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Math 097 We run carelessty to the precipice, after we have put

samething before us to prevent us from seeing it.

Rlaise Pascal (1623 - 1662)

No work = no credit | ;]
lirench mathematicisn

Warm-ups (1 pt each): = u+b ==Y %= w ‘J
1.) (2 pts) Solve: ———»= -—E[x__J
. 3 S 4x =<2
'?_'.& L2 2 |
Lf 3 2 Iy
AFx - 12= %6~ 2 x#Y

X =32/

2.) (4 pts) Solve for all solutions of x* =21x" -35 =65
An= X
4.)\ -~ Y Yo = o
(o = 25D (s v]) =
An =72, 5 @R A =N

Xz 25 ok X2 Y

3.) (4 pts) Solve 34x-8—5=7
= 3Vix-g
2 Vicg =V
= Yx-R= /6

- x=6 v |
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4.) (4 pts) Solve for all selutions of [r +ij =35 (r + i)
r r

- — v
=) A T S -
| é D = T,

Y
- Ay — S AL = O

= - s’:) —0

=) AA= O @i Ar= S

o

7R
( MHQDCW__/) =0

S r+d Lo er el oL
r ’

: 2
= ” *l-?(':@ oK. ;-\}“_ g,q#%f':@ .
),-.::_i?_u ol N= L}

i o, pr=|

3)4 pts) Solve V2w +1lw+14 -2 =w

=2 \/ZML-HM-HV =D

= Db w = TR Y

| O

h':) (Y o Fjo —
e Cw_} e—:’)Lm {;"2_3 — &

‘Q by =XS o4 L= T2

el
L) = _.‘-"L
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2x—1

6.) (3 pts) For the function f (x)= 3
X+

, find:

i) £(0)=_" )/3
i) £(3) = 5}6
iii.) f(=3) = ;_\r) -

7.) (4 pts) Use the graph to solve —x* +4x+520

—- e X L e

8.) (4 pts) Use the test point method to solve x* +2x—24 >0

—é Y X<~b on x4

\
o~
N
ﬁj
A,
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10.) (4 pts) Use the given graph of g(x)

to answer the following questions. B
(Give answers in interval notation. | ]
. . f g(x)
a.) (2 pts) What is the domainofg? Ll f.l. \
):" LI k) \ L A :x
! \
- M

M""“':)«w

b.} (2 pts) What is the range of g? »

\"ﬂ& i )

Note: The gridlines are 1 unit apart.

11.) (4 pts) Use the function and its graph to find the domain and range of h(x) =+2-x+1.

Express your answer in interval notation,

P. 04/04

¥
. 5
4
\
2 ‘\
1
-4 -2 1 2 4 % i.) Domain: (lﬁ_ ] lj
-2 - ii.) Range: i.-ﬂ J ‘E’Q)

12.) (4 pts) Solve vx+3=yx+19=-2

2 N X+1 = f¥2T9 F2

B K3 = %79 — Yy A Y
2~ = -4 Jx+]9
= \x+lq

2= X i X =b

b d 3
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